WA NI Opunnn

T WTAAN AN

2 'on

011 NPT TN
0'UTNN NKUNT ORINNN
nami =07 INxy |an




IXIPN PH5 YW NIRADIA NITYA DIN0ON DIN?ATH NY12Ya

NIATT 97an’ ARAN N7YaR DR Nva 77IYws 027 nbnd vnavn 'R AN 'L anvoa
7an .N7hn0on onbadnY 0YI96HA AT AN R¥D 30-5 N11W OnIodY Dr7abnh
."?nvbnyoona nbaonn

1121930 N77901R N2IYRR DR OIRYD D31 .OAYR12IWN OR 0YTnbhn AR?an nahnd
L15 5 071w Dantan 7aw qwRd nhapnn xUa1 225 nrdnvoonn abaonn

:nHava B NIPYTA DR 1IRD "'D7¥IINR BT nbnn

157 14} 13} 12 11§ 10] 9 8 7 6 5 4 3 2 1 0 I 150n

15| 16| 17 18} 19{ 20{21 |22 23 24| 25| 26( 27| 28! 29| 30|II n1son

2251224)221)216219}200y189|176) 161 1441125104 81} 56} 29| O nbson

$NIRAN DYYRAR DA DNYDa YYnwa

N o0on¥YL 1ARD LNV QLYY 1378 nHAVA DIYIAR Y5 AWIN 7AR TRR TUnbh
?5wn% ,1980 n*n» 07950nA 0150 OR hbYavh 5713 nne

UK 0793Y 73w RI¥NY 73 7HIR .0vnbw 0va0obn Y SapTa :aw Tonbn
.n*Ynroon onboaon

AR ,MTAd pATYA AbRwA DR Y ans Ay anvoa mibh hr 1 YwrhY Tonbn
L0TA3 wnnwhb 0y KXY 1anar

NIPOIYR N1INRY 1T A7ya Yned b3 75 nr1ondbnd 2anvan Ahtwh 5Y nnistba
.099TA3a vnhwnd 7530 DIN7DONY BIN?YAn3

LA¥Ipn Ha5% naknbiaa 1o owd Latya

@+ )% = a® + 2ab + b2
(a - B)% = a® - 2ab + b2
17T DN21Na PIdya AT RWIaAa
Innbx¥na ;
qannn o'en , 1073

©

nYInY D1 oTh 9o
ymb Xy 11on



1 'on nbry

.N?5n2001n 0NY95NY DYN90BA AT DR R¥N ,1980 N1 W 0?298DH Y3V 0190

a+b=1980 , Db 1 a1 nrsonn 7av¥ OR 0DA

7Nt Bawaa

2 2

a? + Db b 2ab + B2 & 44b

1l
©
1

(a * B)% = (& ~ B} + dab

4ab = (a + b)" - (a - b)2

2 _ _ 2
% = (a + b) (a - b)
4
a+b=1980 ,7> 11Mm
2 2 '
i = 1980" - (a - b) e
4
2

a - b wishn bR N79nY0o0n hvan ab nbacnn L,2bvh5w RS q0on RN (a - b)
. a =Db 113y b5 ,00x n¥n?

a =Db =990 :x’h h2wwph 1051 a + b = 1980 :v5 7iha

12555 119pY noaa nny

'R Oy

739 AWRD L,N2H1n700m KA YIAP ONIO0 WR ,D77317°0 0770nn 029500 23V nHaOn
.AtH AT 011w 02990nh

a+b=m oOnido 9wr , b 1 a b¥’a17n 0YYYnKn 0778010 73V 0731103 :ANDIN
.Y1ap 8on A
. a=b 1wKrd ,n*HYn705n R¥n ab nbaon v> nr>oind v

$N1INT DA

az + 2ab + b2 = a2 - 2ab + b2 + 4ab
(a + b)2 = (a - b)2 + 4ab
2
4ab = (a + b)2 - (a - b)
2 2
- - b
g - a+b” - (a-b




,19%7 a +b=m :735 1ha

n’ - (a - b)°

ab = 7

2
a - b wishn OR N7Hn205n nran ab aboonia L, 7575w kY qmon R (a - b)
. a=D>b 113y IMmbdd ,b8r nvnr

2 'on nHNY

IR YHn239n 19pra qWR 4a5n 077) ORA L,7'no 100 onvw AWK 0viaabnh Y5 30a

JANIR R¥D 775107000

. 2(x + y) gp ARt xy nNbwn .y 3 X 2 ja%npn niyhy ax o nba
. X + Yy DI50Q AR IphY 117591 haana xy nbsonn

DAt DYwna

x2 - 2xy + y2 + 4xy

>
+
N
sl
<
&Y
<
f

x+ = x -9t axy
X +y = /{x - y)z + 4xy
$19%1 xy = 100 g1
X +y = /éx = y)2 + 400

2
X -y UIsnn OR 7Hnvavn nrar x +y 81500 L7575w kY q0on RIn (X - )

. X = Y 132y miho ,boKx nrhe

R0 "o 10 1YY IR IWR YI37R iR7A nAtwnn D% xy = 100 5 yin)
.9'"nb 100 onhvy wR B213%an 4°a ?5n2ann qprin Yya



739 UKD ,75nY3n RIN ,NY13ap onbaon

ab = m ©hbs5n qwWR b 1

a2 + 2ab + b2

a

(a + b)?

2

210y

UK L,07%2170 DY7URN DYA80N Y3Y DIOD
.ATH AT 0Y11Y Dr900nh

:nnNoIn
a 0?22%7N% 02YUnNn 0?7900 73V D234%0)
tDINT DIYN)

- 2ab + b2 + 4ab

(a - B)}> + 4ab

a+b= /?a - b)2 + 4ab

,b19%7 ab =m 2> 1)

a+b= V{a - b)z + 4m

,In15s a -b =0 1wxd 5apn> 7Hnramn 7N HnTIPA ANDINA nd

(A1 nh AR phn) 7hn%0; /5n?3avn RIn Y1ap an
2

D13 18P m ,a + b =m
a

32 + 2ab + b2 + a2 - 2ab + b

(a+ )%+ (a-b)?

.a=>b mMay

2917

20 YR ,0779801n 73W SY BAYY137Y D150
LATY AT 0711V 0Y80KA Y3Y WRD

nhdh

onido WK ,b 1 a bDrhsbn 23V ©rana
+ b2 DN?Y1279 01502 02373y0n 130aR

nN17InNT DYwAa
= 232 + 2b2

2(a2 + bz)

(a+ 1)+ (a-b)°
2

.AN2100 nR obwh



11100y
/N 5nroon/n hnram R0 ,¥12p DRYYIAYY D150 TWR ;07733170 079800 73w nbaon
.NTY AT 0211w DYa0bnn 7aw wRS (AR1RR DR phn)

nndTn

.Y12p 1500 m Y a2 * b2 +m ,b % a Ddon 73V D731N2

.ab nb95n3 0373901 110aR

D1710T DYvla

at + 22%2% + b* = 2t - 22%% + b} + 4222
o+ WP o - R 5 1T
5P e 2 - ol 322
~ 2,2 (a2 + bz)2 - (az - b2)2
a’b” = 7
5 732

ab =

/% + 92 - (a2 - ph
3
.Aho1nn ar odun

n_117py

nR phn) YHnro5n/7hn7avm RN L,NYIaP 0hb85M WK D?731170 07I90n 73¥ 5Y BAYYIAYA 019D
.ATH AT 0711 0ra8dpn 23w wRD |, (AN 7nn

nnbIn
V12p v m ,ab = m ohbson ,b 1 a nY98bn AW Braing

2 2
.a + b 07Y12790 01502 D?12394O1n 13haR

:h123InT DYwIa
a + 2a2b2 + b = a4 - 2a2b2 + b4 + 4azb2

2,022 2 (a2 22, 4022

—~
©
+
o

—
1l

a2+ b2 2 ,/(az C 532 4 4222

.AN51NA OrR odun

-6 -



09171713 N17Y22 127TRR BR LYOARY A 725y Drapnnn phNa L017va bW gbirk q731ab
.01N700n IR

J57y5 IR3TAY N1319pYA AwTRRa qTYYRb boin

07907000 onbaony DY98bnA AT AR R¥n ,12345-5 A13Y D7980D 72¥ D150

0950V 5 0798000 73¥W n17n% 07574y An L,212-% f19Y D001 23w D190
?25n737n RIN 0ON?7Y1IaTY

21T hR Ryp ,50 R0 0ORYYIAYY DYSOY 0v75%5w kDA nvvsbnh hiatlth yvan
.N7hn700n anbsony 0r490nh

275070000 hown Y3 TR L,n"o 100 11031 gp2h 75ya braabnh 55 104

apran Yva 1adnh LS ban TR 55 nowy nr3adnh 55 173 :hon
.Y1377 RN

.AN172 0P 11009RA Hya 1aToR LP 410 qprh 7hYa nraabna b5 303
J17MIY5Y R R¥n

70173 0P 110050 HYa anver ,S-5 n11wY Y1ap Dhoww nr3adna b5 103
L17N1Y5 IR OR¥n

nowh 5pa R1n Y1390 d-5 AWt Y1ap 11095R 25Pa mrasbmh b5 172 :hon

1273871 RS now v2 ,Y13p 10?7 711K 2ya ar1it-awr whiwnd 25 hoan
0711w

07020 D190 12V W Iwnh TR .q'nd 32 bhn ThR 55 noww o2wdiwnh 5o 172
.N212N7 ©7ban DR avn ?90772 0PN RIN 175y natan

751720 TR AR R¥n.Xy 36 qwURD ,07721701 077YDN D?980ND OR - y 1 X:1103

X+ y DY

TN AR R¥n X + 18 1wxd ,0v7217h1 0?77YNN D?M80N 0L - y 1 X:1103

<
n

. X2 + y2 5y »hnramn

RRVOEIY R¥n X%+ y2 = 72 "WYR5 ,0%72%701 077000 079900 23¥ bR y 1 x:11D0]
.Xy U 7Hnro0nn

. a2 + b2 by *Hnr3'nh 1WA DR R¥N ,a + b =1 110

.1

.11

.12

.13

.14



P~ @

1AKINY D131IPYA 2Y 9797 191RA DNIOHODH 117K WR L0717 mwp 117yad q1aya

nny

$NIRAA NIORWA DY q2anab 75 1TYY NInTIpn n17yan 119nsa ai7oa Labnnhna

‘a4 + b by 25021900 99y ok N¥3 ,a + b =1 :110)

. a8 + b8 5v 25n23%nph 79y AR R¥D ,a + b

1 :1iha

17¥P3190 P¥ 7507370 NS OR RN
. 4 4
y = sin X + COS X
n7¥PIIsN Sv vHnraTnn N5y IR RY¥n

. 8 8
y = sin x + cos X

N7¥P2190 5Y 75173700 N9y AR RXD

~ 16 16

y = sin” x + cos X
.¥1ap 18bn K20 ab hbson R 07232170 D°°YhAN 029800 2A¥ bn b 1 a 75 11
(A1 a0 ar phn) 7bn0on/?hnviatn nTh? 3a + 7b D150 9% TRAn R¥n

.20 "on nya nbd Yy 2555 119pYy hoint hoa

X+y=20 1 y>0, x>0 UKD +

5

5y 7hnraTnn 1Y OR R¥D

<

'y ]

.02%297n 0798dn B b 1 a WwRd ,a + 2b = 1 fina
.ab 5¥ 7bnYoHnn TAYn OR R¥N

n7¥Pa18n SY 7Hnravnn 1YY OR agh

y = x(x+ D(x+ 2)(x + 3)

a+ b = 10 qWrS ,a2 + ab + b2 790230 YV 7hn73%nn 11y OR K3
b>0;a>0

.1a%n oron® wr R 01777 Hya Dayna
.¥13790 Ri10 Thowa 517an L,nT 2aAyna baodh? qwakw braabnn 55 3*a :hoin

290174 0P 12 258An W1 1PV D150AY L Y21700 3801nA 1ATIR

.15

.16

.17

48

=19

.20

.21

.22

«23

.24

«25

.26

.27

.n2an332 aprvannd A1ha 0T nbn vt Sy ayxin nnan nvyan

3 3

x” + y~ 42Xy 210730 77 WRD y 1 X D7 AR R¥n .28

X + y = 1 —1 ﬁn17: ]DPT\ NIF\

_0in737n - 0IR705M D17YA 117081 7127h2 NI AR AR OX noa
15107 bR OA



